Quiz 4 - Problem Relerences MAC 2311

1. Section 2.4 # 58, 59 and Webassign HW 4 #8.
2. Section 2.6 #31, 33, 34, 37, 43 and Webassign HW 4 # 14, 16.
3. Section 2.8 #1, 5 and Webassign HW 4 #12.



MAC 2311 - Period: Name: K e Y
Quiz 4 - Form A Please write your name and form on your paper.
September 22, 2015 Show your work to earn full credit.

1. Find the value of the constant ¢ that makes the function continuous. (2 points)
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2. Evaluate the following limit. State any necessary theorems (2 points): lln}] ﬁ—r
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3. ELI5 (Explain Like I'm Five): What does the Intermediate Value Theorem mean? Then use the
LV.T. to find an interval of length 3 containing a solution to #® + 2z = —1. (2 points)
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MAC 2311 - Period: ___ Name: C E _Y

Quiz 4 - Form B Write your name and form on both sheets of paper.
September 22, 2015 Show your work to earn full credit.

1. Find the value of the constant ¢ that makes the function continucus. (2 points)
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2. Evaluate the following limit. State any necessary theorems (2 points): lil’I{l) Smoron T
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3. ELI5 (Explain Like I'm Five): What does the Intermediate Value Theorem mean? Then use the
LV.T. to find an interval of length  containing a solution to 2® — 8z = 1. (2 points)
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MAC 2311 - Period: Name: K E Y
Quiz 4 - Form C Write your name and form on both sheets of paper.
September 22, 2015 Show your work to earn full credit.

1. Find the value of the constant ¢ that makes the function continuous. (2 points)
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3. ELI5 (Explain Like I'm Five): What does the Intermediate Value Theorem mean? Then use the
I.V.T. to find an interval of length 1 containing a solution to z* — 8z = 1. (2 points)
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MAC 2311 - Period: Name: K E \(

Quiz 4 - Form D Write your name and form on both sheets of paper.
September 22, 2015 Show your work to earn full credit.

1. Find the value of the constant ¢ that makes the function continuous. (2 points)
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2. Evaluate the following limit. State any necessary theorems (2 points): lim ————
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3. ELI5 (Explain Like I'm Five): What does the Intermediate Value Theorem mean? Then use the
L.V.T. to find an interval of length  containing a solution to z* + 2z = —1. (2 points)
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